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Tough timing: on ISRO PSLV-C61 mission, India’s space programme
ISRO needs more resources to support India’s military needs

In contemporary spaceflight, cost, reliability and time form a tense triangle. Whether more money can
ensure more reliability is tricky to answer, more so following the failure of ISRO’s PSLV-C61 mission to
launch the EOS-09 earth-observation satellite into a sun-synchronous polar orbit. EOS-09 was designed
to produce high-quality radar images for civilian applications such as land-use mapping and hydrology
studies and for defence surveillance, even if inclement weather prevailed over the areas of interest
thanks to a synthetic aperture radar and a C-band data-link. Against the backdrop of tensions with
Pakistan, such all-weather data would also have informed tactical decisions. The Department of Space
had also invited several Members of Parliament to the launch event, which would have been unusual
for a strictly civilian earth-observation satellite. ISRO chairman V. Narayanan later said that his team
noted a glitch in the vehicle’s third stage minutes after lift-off that prevented the satellite from reaching
its intended altitude. While the cause is yet to be ascertained, the failure is a reminder that a “textbook”
launch of a rocket even as well-understood as the PSLV is not a given.

India is just embarking on its ambitious Space-Based Surveillance-3 programme to launch 52
surveillance satellites; 31 are to be built in the private sector, which still needs ISRO’s guidance. Focus
on the programme also comes against the backdrop of Operation Sindoor, which revealed at least one

gap in the country’s space-based military surveillance capabilities when it depended on a foreign
commercial operator for more frequent data. Small margins of error in a rocket components’
operations separate success from failure, and thus cost from reliability. Time, however, is a separate
matter: the pressing need for surveillance capabilities, if not improving the understanding of climate
change and disaster risk over India, means that developers lack the luxury of time while also coming
under greater pressure to deliver across both civilian and military domains. The PSLV-C61 failure follows
the failure in January to place the NVS-02 navigation satellite into its designated orbit. Between an
increasingly crowded launch manifest, research and development, data acquisition and processing
pipelines, limited access to manufacturing capacity, and the human spaceflight programme, it will not
be remiss to increase the resources available to ISRO if only to ensure its ability to meet India’s military
needs while carrying on with other enterprises, all of which are becoming time-sensitive in a highly

competitive global industry. \[Practice Exercise]\

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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Vocabulary

10.

Contemporary (noun) — peer, coeval, equal,

counterpart, fellow TH&TelT

Tense (adjective) — strained, tight, stressful,

anxious, high-pressure <‘-|?-I'I_q'C¢|'\U‘r

More so (phrase) — especially, even more,

particularly, notably, all the more R
31

Following (preposition) — after, subsequent

to, post, in the wake of, ensuing FH e

Inclement (adjective) — harsh, severe,

stormy, rough, unfavourable Qﬁﬁg_or
(FHra)

Prevail (verb) — dominate, persist, exist,
continue, be widespread ‘?lﬂﬁl?f?l?ﬂ/m
IgaT

Thanks to (phrase) — because of, due to,

owing to, on account of, as a result of T

ECRR)

Against the backdrop of (phrase) —in the
context of, considering, amid, given, in light

ofﬁt[%"aiﬁﬁ'

Glitch (noun) — malfunction, error, flaw,

bug, snag dehsiTehT TRTET

Lift-off (noun) — launch, blast-off, take-off,
departure, ascent geTqur

11.

12.

13.

14.

15.

17.

18.

19.

20.

Altitude (noun) — height, elevation, level,

distance above sea, vertical position 3illé

Ascertain (verb) — determine, find out,

verify, establish, confirm 9dT oIdTTAT

Embark (on) (verb) — begin, start,
undertake, launch, initiate %FWT-IT

Ambitious (adjective) — aspiring, driven,
enterprising, determined, visionary

HAgcarehialr

Come against the backdrop of (phrase) —
occur in the context of, arise amid, coincide

with, relate to, emerge with @f‘{%"ﬁq@ﬁ
3ATAT

. Margin (noun) — edge, limit, buffer, leeway,

tolerance W/WT

Pressing (adjective) — urgent, critical,
important, immediate, vital dTcehTTeldh /
HATdRTh

Domain (noun) —field, area, sector,

discipline, sphere av

Place (verb) — position, put, deploy, launch,

insert TATTO el

Designated (adjective) — assigned,
specified, allocated, marked, chosen

IGEIEG!
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21. Crowded (adjective) — packed, full, 24. Processing pipeline (noun) — a technique

overloaded, congested, jammed HISHTS where a process is broken down into
multiple sequential stages, and each stage

dTell . .
operates on a portion of the input

22. Manifest (verb) — display, show, exhibit, concurrently.

demonstrate, reveal WWT/H@G?{U 25. Remiss (adjective) — negligent, careless,

FLAT inattentive, irresponsible, lax elTY{dlg
23. Data acquisition (noun) — the process of 26. Meet (verb) — fulfill, satisfy, achieve,

collecting and measuring real-world data, comply with, respond to T &hIaT

typically from sensors or transducers, and
converting it into a digital format that can
be processed by a computer.
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10.

11.

12

13.

14.

15.

Summary of the Editorial
ISRO's PSLV-C61 mission failed, as it could not place the EOS-09 earth observation satellite into
the intended sun-synchronous polar orbit.
EOS-09 was designed for high-resolution radar imaging, useful for both civilian purposes (like
land-use and hydrology) and military surveillance.
The satellite's synthetic aperture radar and C-band data-link enabled it to operate effectively
even in adverse weather conditions.
Amid India-Pakistan tensions, EOS-09 would have provided critical tactical surveillance data.
The presence of MPs at the launch suggested the satellite had significant strategic importance
beyond routine civilian use.
ISRO identified a third-stage glitch in the rocket shortly after launch, which caused the failure.
The failure underscores that even well-tested rockets like PSLV are not immune to technical
issues.
India is initiating the Space-Based Surveillance-3 programme, planning to launch 52 surveillance
satellites.
31 of these satellites are to be built by private companies, requiring continued support and
oversight from ISRO.
The need for space-based surveillance became more urgent after Operation Sindoor revealed a
capability gap, leading India to depend on foreign operators.
Rocket reliability hinges on precision, where small component errors can lead to mission failure.

. The urgency of military and climate monitoring needs means ISRO must work under tighter

timelines with no room for delays.

The PSLV-C61 failure follows another setback in January, when the NVS-02 navigation satellite
was misplaced.

ISRO faces constraints like limited manufacturing capacity, tight schedules, and demands from
multiple domains including human spaceflight.

The editorial concludes that ISRO urgently needs more resources to handle growing civil and
military demands in a fast-evolving global space race.
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Practice Exercise: SSC Pattern Based
1. What is the main theme of the passage?

A. The advancement of ISRO’s space tourism program
B. The need to privatize India’s entire space sector
C. The challenges facing India’s space missions and surveillance goals
D. The success of India’s climate change research
2. The author implies that the most urgent challenge facing ISRO after the PSLV-C61 failure is to
A. redesign the PSLV from scratch to avoid all future glitches
B. secure additional resources so it can meet military and civilian launches on tight schedules
C. abandon time-sensitive military payloads until reliability improves
D. outsource a majority of launches to foreign commercial providers
3. Why would EOS-09 have been able to collect useful images even in poor weather?
A. It carried a multispectral optical camera with a very wide aperture
B. Itrelied on ground-based lidar stations for real-time correction
C. It orbited below cloud level to avoid atmospheric interference
D. It used a synthetic-aperture radar coupled with a C-band data link
4. What specific capability gap did Operation Sindoor expose in India’s space-based surveillance?
A. Lack of encrypted down-link channels for military data
B. Dependence on a foreign commercial operator for frequent imagery updates
C. Absence of satellites in geostationary orbit covering the western border
D. Inability of synthetic-aperture radar to penetrate dense cloud cover
5. According to the passage, the Space-Based Surveillance-3 (SBSS-3) programme plans to launch how
many surveillance satellites in total?

A 31
B. 45
C. 52
D. 61

6. Select the grammatically correct sentence
A. Rahulis very naughty as he is the youngest sibling among Rama’s three brothers.
B. Rahulis very naughty as he is the most young sibling between Rama’s three brothers.
C. Rahulis very naughty as he is the most young sibling among Rama’s three brothers.
D. Rahulis very naughty as he is the youngest sibling between Rama’s three brothers.

7. Select the option that can be used as a one-word substitute for the given group of words.
The analysis of a person's handwriting to determine his/her personality

A. Calligraphy
B. Numismatics
C. Philology

D. Graphology

8. Select the INCORRECTLY spelt word
A. Shadow
B. Music
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C. Reflect
D. Scari
9. Select the most appropriate synonym of the given word.
Antique
A. Modern
B. Young
C. Novel
D. Ancient
10. Select the most appropriate option that can substitute the underlined words in the given
sentence.

Losing my job turned out to be an unexpected benefit because it pushed me to start my own

business, which has been more successful than | ever imagined.
A. a golden opportunity
B. a mixed blessing
C. ablessing in disguise
D. adiamond in rough
11. Select the most appropriate option to fill in the blank.
The students were for their hard work with certificates and praise
A. penalised
B. punished
C. reprimanded
D. rewarded
12. Select the most appropriate form of comparative degree that can substitute the underlined
segment in the given sentence.
Rohit Sharma is better than more other batsman in the world
A. the best batsmen
B. as good as the most other batsmen
C. better than most other batsmen
D. better batsmen
13. Select the most appropriate ANTONYM of the underlined word in the given sentence.
He was very inquisitive and wanted to know each and every detail.

A. Uncanny
B. Intelligent
C. Indifferent
D. Indeterminate
14. Select the grammatically correct sentence
A. Rukmini put the book on the table and sat down.
B. Rukmini put a book on an table and sat down.
C. Rukmini put the book on an table and sat down.
D. Rukmini put an book on the table and sat down
15. Select the most appropriate ANTONYM of the underlined word in the given sentence.
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16.

17.

18.

19.

20.

Anupama was a very industrious child and submitted all her assignments on time.

A. industrial
B. lazy
C. intense

D. laborious

Select the option that can be used as a one-word substitute for the given group of words.
The branch of geography that studies mountains and their formation

A. Orography

B. Mythography

C. Orthography

D. Palaeography

Select the INCORRECTLY spelt word

A. Ceremony

B. Disappointment

C. Prescription

D. Beginer

Select the most appropriate form of comparative degree that can substitute the underlined
segment in the given sentence.

Maheshwari is three years junior than me.

A. more junior than me
B. junior than that of me
C. junior tome

D. junior than any other to me
Select the most appropriate option to fill in the blank.
The concert was due to the bad weather

A. cancelled

B. commenced

C. continued

D. celebrated

Select the most appropriate idiom to replace the underlined segment.
He thinks his new plan will undoubtedly produce the desired result

A. sour grapes

B. go pear-shaped

C. gosuckalemon

D. bear fruit

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The computer can become a threat to man. It can (1) his survival and privacy.

It also offers excellent encouragement for unethical or criminal activities. It can (2)
the unemployment problem as employers prefer the computer and the
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21.

22.

23.

24.

25.

‘computer- controlled robots' to humans for obvious reasons. The information storage facility

the computer provides has (3) to collection of personal information about
individuals and storage of this information in data banks by several employing agencies. If care
is not exercised (4) data gathering, data integrity may suffer. That is, questionable
or imperfect methods may be employed; as a result, incorrect or incomplete data may be stored,
and this (5) become a permanent source and used for any given purpose

Select the most appropriate option to fill in blank no. 1.

A. protect

B. encourage

C. tranformative

D. endanger

Select the most appropriate option to fill in blank no. 2.
A. beat

B. control

C. worsen

D. improve

Select the most appropriate option to fill in blank no. 3

A. experienced

B. involved

C. stored

D. led

Select the most appropriate option to fill in blank no. 4.
A. during

B. by

C. unless

D. when

Select the most appropriate option to fill in blank no. 5.
A. may

B. must

C. should

D. haveto
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Answers

1. C 2.B 3.D 4.8 5.C 6.A 7.D 8.D 9.D 10.C 11D 12.C

13. C 14A 15B 16.A 17D 18C 19.A 20D 21.D 22.C 23.D 24A

25. A |[Practice Exercise]|
Explanations

1. C) The challenges facing India’s space missions and surveillance goals
The central idea of the passage revolves around the PSLV-C61 failure, the tension between
cost, reliability, and time, and the pressing demands for military and civilian space

applications. It emphasizes the challenges India faces in balancing ambitions with limited
resources and time.

A. Incorrect; tourism is not mentioned at all.

B. Incorrect; the passage mentions private sector involvement but doesn't argue for full
privatization.

D. Incorrect; climate change is briefly mentioned, but the focus is on failures and resource
challenges, not successes.

2. B) secure additional resources so it can meet military and civilian launches on tight schedules
The passage notes that ISRO’s manifest is “increasingly crowded” and argues “it will not be
remiss to increase the resources available to ISRO if only to ensure its ability to meet India’s
military needs while carrying on with other enterprises.” This implies the key need is more
funding and capacity, not a total redesign or outsourcing.

A exaggerates; the PSLV is described as “well-understood,” needing investigation of a stage-3
glitch, not total redesign.

C contradicts the passage’s stress on urgent military surveillance needs that cannot wait.

D is opposite to India’s push for strategic autonomy; the article highlights reliance on foreign
data as a problem, not a solution.

3. D) It used a synthetic-aperture radar coupled with a C-band data link
The passage explicitly links all-weather imaging to EOS-09’s synthetic aperture radar and C-
band link.

A: Optical sensors are hampered by clouds; the text mentions radar, not multispectral optics.
C: No low-orbit below clouds is suggested; EOQS-09 targeted a sun-synchronous polar orbit.
D: Ground lidar is never mentioned and would not solve cloud-cover issues in space imagery.

4. B) Dependence on a foreign commercial operator for frequent imagery updates
The passage states Operation Sindoor “depended on a foreign commercial operator for more
frequent data,” highlighting reliance as the gap.

A: No encryption issue is discussed.
C: Geostationary coverage is not mentioned; the focus is polar-orbiting surveillance.
D: The passage portrays SAR as part of the solution, not the problem.

5. C)52

The passage states SBSS-3 aims to launch 52 satellites.
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6.

10.

A: 31 is the subset to be built in the private sector, not the total.
B & D: 45 and 61 do not appear anywhere in the passage; they misrepresent the stated figure.

A) ‘Among’ &l use Tar %\’ Fifr 'Rama's three brothers' Tah S (group) =T Hohd AT
%}I 3?433 ATY, ‘youngest’ &l use Tar % FIifh g superlative degreefr % IR HHg & ST
p= delal I ST &1 37T options B3I CH: ‘most young’ &T use ITeld & FAifeh ‘young’
T superlative &9 ’youngest’E’IHT %I D H: ‘between’ T use eI % FIifh 'between' T
use T & A AT FEGH F AT @ &, FAF A§ A smgAt A A @ @ A

‘Among’ is correct because 'Rama’s three brothers' refers to a group. Additionally, ‘youngest’ is
appropriate as it is the superlative degree used to indicate comparison within a group. In B and
C: The use of ‘most young’ is incorrect because the superlative form of ‘young’ is ‘youngest’. In
D: The use of ‘between’ is incorrect because 'between' is used only for two entities, whereas
here it refers to three brothers.

D) Graphology (noun) — The analysis of a person's handwriting to determine his/her personality.

gEderg =t
e (Calligraphy (noun) — The art of beautiful handwriting. Qial for@rae T Fer

e Numismatics (noun) — The study or collection of coins, banknotes, and medals. e,

e, 3R Yl T IEIIT AT I
¢ Philology (noun) — The study of language in written historical sources; linguistics. #HTT

3R 3a% Tifgc &1 3egaa

D) The incorrectly spelt word is ‘Scari’, which should be correctly spelled as ‘Scary’. SIIddl,
HArdg "

D) Antique (adjective) — Belonging to the past, especially something of high value due to its age,
ancient, old-fashioned. FIDTI'HT

Synonym: Ancient (adjective) — Very old, of or relating to the distant past. 9TdleT
e Modern (adjective) — Relating to the present or recent times, new, contemporary. Eﬂﬁ?
e Young (adjective) — Having lived or existed for only a short time, not old. gdr
¢ Novel (adjective) — New and different in an interesting or unusual way. sTdleT

C) a blessing in disguise(idiom)- an unexpected benefit oar §3-1T alclel

A) A golden opportunity — A highly favorable chance HoTeT T

B) A mixed blessing — Something that has both advantages and disadvantages ﬁl?—lT—\_flflT 3-1?:[343’
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11.

12.

13.

14.

D) A diamond in the rough — Someone or something with potential but in need of improvement

e R (S aH @R & S 8

D) Rewarded' T use @I FAifd sTHr 37T § "Fd & g Ir 3udfsdr & fow
RERR SaT|" sentence H mention & & @ET & 3T Agadd & olv gaAONT 3R
SRIET &7 918, ST 3ofeh GIEDR & Hehel & 'Penalised T 7Y § &S e, ST 58 el
H 3UYFA AET § Fifeh dTFg BT & JATE! T AAEA I ST FX T@T &1 'Punished' T
Y & HaT ST, S AgAd 3R 9T & T S8 &1 'Reprimanded' T 37 § HehR
oIS, ST aTeFg o A9 31T 9T & IrY Aol Al @rdr

‘Rewarded’ will be used because it means "to give a prize or recognition for someone's efforts

or achievements." The sentence indicates that students were given certificates and praise for
their hard work, which implies they were rewarded. 'Penalised' means to impose a penalty, which
doesn't fit as the sentence talks about appreciation. 'Punished' means to inflict punishment,
which is irrelevant here as the focus is on recognizing hard work. 'Reprimanded' means to scold,
which is contrary to the context of praise and recognition.

C) 'better than most other batsmen' &l use €T31T Faifehr S« frdr @'ﬂ'@' $r F_I"H'HT gﬁ'?IIT &
37Te1er 3= genfsar @'ﬁﬂ'l?—ﬁ%, dd ‘most other’ T use Eh_{?f%, o & ‘more other’; . g

Rohit Sharma is better than most other batsmen in the world.
'better than most other batsmen' will be used because when we compare a player with the
'majority of other players' in the world, we use 'most other', not 'more other'; for example—
Rohit Sharma is better than most other batsmen in the world.

C) Inquisitive (adjective) — Curious, eager to learn, interested in knowing about things. ol Ay

Antonym: Indifferent (adjective) — Having no interest or concern, unconcerned, apathetic.
3

e Uncanny (adjective) — Strange, mysterious, weird, beyond normal. 37oisl

e Intelligent (adjective) — Smart, clever, having the ability to learn and understand.

EARLIGE

9 ~
e Indeterminate (adjective) — Not precisely fixed, indefinite, vague. 3T Tad

A) Rukmini put the book on the table and sat down.

"the book" 31X "the table" &laiT T foth HefdTar awq3il & fow fwam S @ &1 "the book”

FT use Jg AT & foIw fhar a=r & 5 fohaie dger & ATT &1 "the table" &T use sq

ST 1 Hehd T & T Arfershr ggel & STl g5 a&d &
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15.

16.

17.

18.

19.

The sentence is correct when "the book" and "the table" are used because they refer to specific,
known objects: "the book" is used to indicate a book that is already known. "the table" signifies
a specific, known table.

B) Industrious (adjective) — Hardworking, diligent, committed, dedicated. T
Antonym: Lazy (adjective) — Unwilling to work or use energy, idle, sluggish, lethargic. 3TelHT
¢ Industrial (adjective) — Related to industry, manufacturing, or production. m

¢ Intense (adjective) — Having strong or extreme force, feeling, or degree. aid
e Laborious (adjective) — Requiring considerable effort and time, arduous, painstaking.
HHATET
A) Orography (noun) — The branch of geography that studies mountains and their formation.
qqdr 3R 3o AT FT IEAAT FT arelr HENA I T
e Mythography (noun) — The representation or interpretation of myths, especially in art
or literature. fRZ@AT &7 31€TIT AT JUT|

e Orthography (noun) — The conventional spelling system of a language. gder a1 fREr
HTST T IR il JoTe |

e Palaeography (noun) — The study of ancient writing and inscriptions. 9TdleT IGIERINKIEY
G I I |

D) The correct spelling of "Beginer" is "Beginner," which means "a person who is starting to learn
something or doing something for the first time" (‘{I}HIT—T I drell)

C) 'junior than me' & dcof 'Junior to me' T use gram FiTeh 'junior'a? T AT 'to' &l
use BT &1 'Than' &T use Comparative Degree & ahddl 'more' T 'less' b TTY fhaAT FATAT
%,EI_GI% 'junior', 'senior', 'inferior', 'superior’, e & Y 'to' T use HAT JATAT %I g
Maheshwari is three years junior to me.

‘junior to me' will be used instead of 'junior than me' because 'junior' always takes 'to' and not
'than.' The word 'than' is used with comparative forms like 'more' or 'less,' whereas adjectives

like 'junior,' 'senior,' 'inferior,' 'superior,' etc., take 'to.' For example— Maheshwari is three years
junior to me.

A) 'Cancelled' T use TET & FAiITHh "cancelled" &1 37T § HAT TeaAT AT AT T AT

FIAT| sentence H mention % 5 @ue Algw F FRUT FRIGH F {cg T 1T,
S'Hﬁ'(f 'cancelled'ﬂﬁ answer %I '‘Commenced' ST 37T % QBT Eh_{T-iT,ﬁﬁTrr II%T FRIGH
Y& ALl fohar I afceh Teg FhaT I-T| 'Continued' &1 31 § ST I@eT, Aifehel TR
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20.
21.

22.

AGT & PROT FRIHA AN IWAT THT 181 AT| 'Celebrated H 3T § 3cqd HATAT, ST
59 HedT H v §

‘Cancelled’ is correct because it means to call off or terminate an event or plan. The sentence
indicates that the concert was called off due to bad weather, making 'cancelled' the correct
choice. 'Commenced' means to begin, but the concert was not started; it was cancelled.

'Continued' means to keep going, but it was not feasible due to bad weather. 'Celebrated' means
to rejoice or honor, which is irrelevant in this context.

D) Bear fruit (idiom) — Produce the desired result thel caT

D) 'Endanger' &T use B9 it 'endanger' T 37 & forely It & @R & srerm| sq
sentence & g mention % IE3 e’hbqrp{ HelS F 3FI¥dca IR MuIar & OT @ar s
Hehdl &1 SHTAIT, 'endanger' T use el gl 'Protect’ (Wﬁ HIAT) T 3T AT &
Fhifr Ig @A HT I &t $I §Td T &l 'Encourage’ (WcHTRT HIAT) FHT 7Y
et & el A8l § Fifh Ig WA F o ol FhRIcHS Uge A fe@rar gl
"Transformative' (Qﬁa?cl?lﬂ?lﬂ') it fhe 81 Sodr Fifh Ig WA Tad el HIdl|

'Endanger’ will be used because it means to put something at risk or in danger. The sentence

discusses the computer being a potential threat to man's survival and privacy, making ‘endanger’
the most appropriate. Whereas, 'Protect' means to safeguard, which is opposite to the
sentence’s meaning. 'Encourage’ implies promoting something positive, which does not align
with the context. 'Transformative' means causing change, but it does not convey a threat or
danger, making it unsuitable here.

'C) Worsen' &T use g9 FIifeh SHT T g FO Bufa & 3R @wue wEn g
sentenceffmention%%WW@TW&#WWW%W
fiFar saar & S9g a'TQII:c'.T 3R 'computer-controlled robots' & WATAFAT Sd &1
Bﬂﬁ'(f 'worsen' TgI [dsheq %I 'Beat' & 37T %} &AT AT AT ST, ST SRISTIRT Sl FHEAT
& 9¢1 & T H Tod AT HIATI'Control' T Y § RIF0T e, ifereT Tl areg &
RIS & dgad T aTd Fr ST W g, 7 fo FI=¥T = Il 'Improve’ &1 37T &
JUREAT, ST fSehel 3o § Fifeh SRISHIRT T FHEIT Y URA & Fol1d, AT FAhRIcH
THTT T ST A @ B

‘Worsen' will be used because it means to make a situation worse. The sentence highlights that

computers may exacerbate the unemployment problem as employers prefer computers and
robots over humans. Therefore, 'worsen' is appropriate. '‘Beat' means to defeat, which does not
convey the worsening of unemployment. 'Control' means to manage or regulate, which is
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23.

24.

25.

contextually incorrect here. 'Improve' means to make better, which is opposite to the sentence's
meaning.**

D) Led' &T use B9 FAiteh "led" T Y glar § R oS &7 $ROT g7 Ir fHAr
RO #T 3R o S| FgT Ao H T 317 8 fob $hegex T SleTehRT HAgoT Fiaem
S AFIIT FARRT & FHAGOT 30T 3T b H TR I 3R aRT fFar g1 safev
'led' TEY option gl ‘Experienced’ &T 37T & "3-171343' TRar", dfhd I§ context H TEr Aol
SodTl‘Involved’ &T 31T § "AfAT AT, dfehed "has involved to" T use ITedd &1 ‘Stored’

FT 3T § "GIAT FIAT", Afhal "has stored to" ATFT H ITTd grammatical structure IATAT &

‘Led’ will be used because it means to result in or cause something. The sentence states that the
information storage facility has led to the collection of personal information, which makes 'led'
the correct choice. ‘Experienced” means "to have undergone" but does not fit
contextually.‘Involved’ is incorrect because "has involved to" is not a valid grammatical structure.
‘Stored’ is incorrect as "has stored to" makes no sense grammatically.

A) During' T use 81T FIifd "during" &7 3Y § FEr FHT 37afr Ir gihar & SR
Sentenceﬁmwg%mwmmﬁma?mmﬂﬁm
ST &, @ 3er fr IdFhar yafad & Thd! &1 SHTAT 'during' T8I TET &1 'By' FT A
g SR S dTell ATETH AT oI, ST o8 GG H TET A8l &1 'Unless' ST Y & "afg
sTel," oifdhet T@T Ig 7Y T gl Sodr Fifes Tg AT AT AT a1d T QT g1 'When'
forell TaRIY THI IT &T0T T =M &, olfehel TGT X ST Fheol el T FishdT Sl &1
gl W g, o T frdl Ay a@& g &)

'During' will be used because it means "throughout a particular period or process." The sentence
mentions that if care is not exercised during data gathering, data integrity may suffer, making
'during' correct here. 'By' refers to an agent or means, which is not relevant here. 'Unless'
introduces a condition ("if not"), but this sentence talks about a process, not a condition.
'When' indicates a specific moment, but here it refers to the entire process, making 'when'
incorrect.

A) ‘may' T use J@I ol & Fdifeh sTPT 31T § "GHTGAT" AT "8Y T 8" sentence H
mention%%WWW%UE#WWTETW%W%MWU*
T TURY B9 97 THhdr &1 Ig Fadd Ueh HGAT TFd R T&T g, o [ Pis ARTIdT|
ST 'may' TET faFed &1'Must’ &7 37T § "faardar a1 "S& g, dfhed JgT Tg
AT 6T & b ST AT Telcd €1 811 ‘Should’ &1 Y § "3RI a1 "geAra," olifehe
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arrg &1 3 GSId ol HT AT §, Slech Teh THIAAT ST el T g ‘Haveto’ T 7Y
g "R PR Y FLe I STeTar,” it Tgr SreIar Y 9T STEr S S W

The word 'may' is correct here because it indicates possibility or something that "could

happen." The sentence states that incorrect or incomplete data may become a permanent
source and be used for any given purpose. It is expressing possibility, not certainty. ‘Must’
implies necessity or certainty, which is not appropriate because the data’s usage is not
guaranteed. ‘Should’ suggests advisability or a recommendation, which does not fit as the
sentence is not giving advice. ‘Have to’ indicates obligation, which is unrelated here since there
is no compulsion involved.
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